56 D4
~ = |/ dB-killer n.32B
| Co0d.307677801
I N R8,5
R AN N
S ‘% | ' R4,5
1 \i/ & 47 Carbon brackef FM4S
$33 Cod.307572505
o Aluminium spacer]
Flange 45E SBK 30X25X8.5
Cod.205267 Cod.206309

SGI [e.] 0457 )

Knurled collar nut M8
Cod.200298

2x Welded bushing
Cod.206331

. 2 Flange 45
Cod.205267

Pipe 2/1 N°10/3 s.9
Co0d.303379203

Plug M12x1.25
Co0d.204052

Gasket 17.85x12.3x1.5
aluminium
Cod.204091

Extra-Short helical
spring tensile
Co0d.308574001

LV ONE EVO s.s
silencer @i 54x300
Co0d.308410481

LAluminium spacer
-for allen screw M8+

Co0d.204321
Allen screw M8X65 2x Short helical spring Pipe N°1072s.s
T.C.Z.B. tensile Co0d.303379201
Cod.201222 Co0d.303949001
ART. 14122E

YAMAHA MT-25/ MT-03 / YZF-R25 / YZF-R3 /A

FULL SYSTEM - LV ONE EVO - STAINLESS STEEL - APPROVED



	DT-14122E
	Vista del disegno12
	Vista del disegno14
	Vista del disegno15


